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QUESTION 1

The data on a failed disk group is being rebuilt on other disk groups. Negative performance impact to VMs is being
reported.

What can be used to reduce the negative performance impact on the VMs?
A. resync throttling

B. maintenance mode

C. proactive rebalance

D. disk group data evacuation

Correct Answer: C

QUESTION 2

The Resyncing Objects view in the vCenter Ul reports that some objects are currently resyncing. Which two actions
would cause the objects to resync? (Choose two).

A. A change to the storage policy is applied to the objects.

B. A VM snapshot is being deleted.

C. An ongoing vMotion operation is moving a VM between hosts in the cluster.
D. A host failure occurs in the cluster.

E. HA Virtual Machine Monitoring forced a VM to reboot.

Correct Answer: AD

QUESTION 3

Refer to the exhibit.
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Availability Advanced Policy Rules Tags
Site disaster tolerance (1) None (standard cluster)

3'N0de VSAN Cluster (HYbrid) Failures to tolerate (1) 1 failure RAID-1 (Mirroring)

Consumaed storage space for 100 GB VM disk would be 200GB

Healthy Healthy Maintenance Mode Availability Advanced Policy Rules  Tags
= Number of disk stripes per object (3) 7
esxivosts IO 1M1 [111_O_111] [Ill_© 1] s sipe er oot G
10PS limit for object (3) a
Object space reservation () Thin provisioning
Initially resarvad storage spaca for 100 68 VM diskwould ba 08 |

; Flash read cache reservation (%) (1) 0
10GbE Switch
Reserved cache space for 100GEB VM disk would be 0B
Disable object checksum (7) (}
Force provisioning -’J\ (}

A storage policy has been created for the 3-node vSAN cluster in the exhibit. A VM is deployed using this policy.
What is the expected behavior?

A. VM will be deployed but remain non-compliant.

B. VM will be deployed and is reported compliant.

C. Force provisioning will be turned off automatically.

D. VM deployment fails.

Correct Answer: A

QUESTION 4

How do vSAN stretched clusters protect against entire site failures?
A. asynchronous data transfer

B. online witness replacement

C. virtual machine data copied from the witness site

D. redundant components placed at both sites

Correct Answer: D

QUESTION 5

An administrator is configuring vSAN Encryption on an existing hybrid cluster. During the configuration, the administrator
is unable to see any information for the Key Management Server (KMS) cluster in the dropdown menu.

What is necessary for the KMS cluster options to populate?
A. VSAN encryption requires all-flash configurations.

B. VSAN encryption needs to be enabled during the creation of a new vSAN cluster.
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C. The Key Management Server needs to be added to vCenter.
D. vSAN encryption is enabled at the VM level by storage policies.

Correct Answer: C
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